

$A(2, -4) \quad B(1, 8) \quad M(\frac{1+2}{2}, \frac{-4+8}{2}) = (1.5, 2)$

$m_{AB} = \frac{8 - (-4)}{1 - 2} = \frac{12}{-1} = -12$ $m_{\perp AB} = \frac{1}{12}$ $y - y_m = m(x - x_m)$

$y - 2 = \frac{1}{12}(x - 1.5) \Rightarrow y = \frac{1}{12}x + \frac{23}{12}$

۱, ۷۵

$A(2, 1) \quad B(-2, 5) \quad C(-1, 3) \quad m_{BC} = \frac{3-5}{-1-(-2)} = \frac{-2}{1} = -2$

$d_{BC} = \sqrt{(x_B - x_C)^2 + (y_B - y_C)^2} = \sqrt{(-2 - (-1))^2 + (5 - 3)^2} = \sqrt{1 + 4} = \sqrt{5}$ $BC: y - 4 = -2(x - 1) \Rightarrow y = -2x + 6$

$AH = \frac{|1(2) + 2(1) - 6|}{\sqrt{1^2 + 2^2}} = \frac{|2 + 2 - 6|}{\sqrt{5}} = \frac{2}{\sqrt{5}}$

$y = -\frac{2}{1}x + \frac{6}{1} \quad 2x + y - 6 = 0$

$2y - x = 6$

$\begin{cases} 2y - x = 6 \\ 2y - ax = 6 \end{cases} \Rightarrow a = -2$ $r = \frac{|c - c'|}{\sqrt{a^2 + b^2}} = \frac{|6 - 6|}{\sqrt{4 + 1}} = 0$

$\text{مساحت} = \pi r^2 = \pi \times \frac{4}{5} = \frac{4}{5}\pi$

$A(2, 2) \quad M(2, 2) \quad d_{AM} = \sqrt{(x_m - x_c)^2 + (y_m - y_c)^2} = \sqrt{0 + 0} = 0$

$B(2, 1) \quad m_{AB} = \frac{1-2}{2-2} = \text{undefined}$ $AB: x = 2$ $x + y - 3 = 0$

$CH: y - 1 = -1(x - 2) \Rightarrow y = -x + 3$

$HM = \sqrt{(x_m - x_c)^2 + (y_m - y_c)^2} = \sqrt{1^2 + 1^2} = \sqrt{2}$

$(m+1)x - (m-1)y - 1 = 0 \rightarrow aa' - bb' = 0$

$(m+1)x - (m-1)y + 1 = 0$

$(m-1)(m+1) - (m-1)(m-1) = 0$

$m^2 - m + m - 1 - m^2 + m - 1 + m - 1 = 0$

$2m^2 - 14m + 11 = 0$

$m^2 - 7m + 5.5 = 0 \quad \Delta < 0$

مستقیم

$$AB: x+y = 1$$

$$AC: y = 2x-1$$

$$BC: x+y = 1$$

$$AC, AB: x + y(2x-1) = 1 \quad x=1 \quad A \begin{vmatrix} 1 & 1 \\ 0 & 1 \end{vmatrix}$$

$$AC, BC: x + 2x-1 = 1 \quad x = \frac{2}{3} \quad y = \frac{1}{3} \quad C \begin{vmatrix} 2 & 1 \\ 1 & 1 \end{vmatrix}$$

$$AB: \frac{|1+1-1|}{\sqrt{1^2+1^2}} = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$AB: \frac{|1+1-1|}{\sqrt{1^2+1^2}} = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$AB, BC: x+y=1 \quad \begin{cases} y < -1 \\ x < 0 \end{cases} \quad B \begin{vmatrix} 0 & 1 \\ -1 & -1 \end{vmatrix} \quad M \begin{vmatrix} 1 & 1 \\ 2 & 1 \end{vmatrix}$$

$$\frac{AM}{AH} = \frac{\sqrt{2}}{2\sqrt{2}} = \frac{1}{2}$$

$$m = -\frac{1}{r} \quad y = -\frac{1}{r}x + b \quad +\frac{1}{r}x + y - b = 0$$

$$d = \frac{|b|}{\sqrt{\frac{1}{r^2} + 1}} = \sqrt{r} \Rightarrow |b| = \sqrt{r} \times \frac{\sqrt{2}}{r} = \frac{\sqrt{2}}{\sqrt{r}}$$

$$0 = -\frac{1}{r}x + b \quad x = rb$$

$$P_{AB,BC} = \sqrt{(rb)^2 + (-b)^2} = \sqrt{ab^2} = \sqrt{2\lambda\omega} = \sqrt{12\omega}$$

$$y = (1-m)x + r \quad y = \frac{r}{m}x + r \quad \frac{r}{m} + r = x - mx + r \sim (0, r)$$

$$(1-m)x + r = 0 \quad x = \frac{r}{m-1}$$

$$\frac{r}{m}x + r = 0 \quad x = -\frac{m}{r}$$

$$S = \frac{1}{r} \times r \times \left(\frac{r}{m-1} - \left(-\frac{m}{r} \right) \right) = \frac{\omega}{r}$$

$$\frac{r}{m-1} + \frac{m}{r} = \frac{r+m^2-m}{r(m-1)} = \frac{\omega}{r}$$

$$x_m = \frac{a+x_d}{r} = r \quad x_d = r$$

$$y_m = \frac{-r+y_d}{r} = -1 \quad y_d = -1$$

$$x_m = \frac{r+x_d}{r} = r \quad x_d = r$$

$$y_m = \frac{-r+y_d}{r} = -1 \quad y_d = -1$$

$$x_m = \frac{x_A + x_{A'}}{r} = \frac{1+x_{A'}}{r} = -1 \quad a = x_{A'} = -r$$

$$y_m = \frac{y_A + y_{A'}}{r} = \frac{r+y_{A'}}{r} = r \quad b = y_{A'} - r$$

$$1r \leq 5r = 10$$